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Unit 11 Review

SM3H Polar and Parametric Equations Unit 11

Match the parametric equations with their graphs.
1. x=6sin(4¢) and y=4sin(6¢) 2. x=4(cost)’ and y = 4(sin¢)’
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Sketch the curve given by the parametric equations.
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3. x=t"—-4 and y=— 4. x=+t and y=2-—¢
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(Set Tmin: -2 and Tmax: 3) (Set Tmin: 0 and Tmax: 4)
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5. Bryce Harper hits a baseball 3 feet above the ground, with an initial velocity of 100 ft/sec at an
angle of 15° with the horizontal. Using the following parametric equations, will the ball clear a
10 foot wall that is 400 feet away? Draw a picture to help you answer the question.

DEGREE x=(100cos15)¢ and y=-16¢>+(100sin15)z+3
s X2= 400 ¥2=10 o graph 4he fences
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6. Let’s say that Bryce Harper tries to hit the ball again, but this time with an angle of 23° with
the horizontal. Using the new parametric equations, does he hit a home run? Draw a picture to
help you answer the question.

DEGREE x=(100cos23)s and y=—16>+(100sin23)¢ +3
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Plot the points with the given polar coordinates.
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Use algebra to find the rectangular coordinates of the points with the given polar

coordmatees X=Yws® J=rsine
¥

10. ( 1—5 K ‘/—57[) . .
x=-lowsh = 2 m roosgl 2 (_é_'f__%)
J=-lsn —I = 3, : =J3 ¢in ST - = 3 o, s

Use algebra to find the polar coordmates of the pomts with the given rectangular

coordinates. ( x) r= -,)x .ﬂj .
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Convert the following equations from rectangular form to polar form.

©=Tan" () 2=yt  x=rwse y=rein®

14. x2+y2—8Ly_J=O 15. 3x—6z_.+2=0
b;f\J r1h© rose rsing
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Convert the following equations from polar form to rectangular form.
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18. The locations of two UFOs in the night sky above BYU Stadium, given in polar coordinates,

are (27mi, 122°) and (31mi, 97°). Find the distance between the two UFOs. F irst, draw a picture.
£ DEGREE MODE

15" x*= 27+ 21* - 2(1)(3]) 0s25°
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WITHOUT A CALCULATOR, determine the number of petals on each rose curve, given
the following equations. Then list how long each petal is.
19. r =3cos 660 20. r =3sin 80 21. r=4cosl176

= n"—g = {7

(12 E’mlgl (o petals] (T pefals)
a=3 =3 a=4

3 units fon { 33m+s long | ‘q units lopq |

WITHOUT A CALCULATOR, determine what type of limagon is represented by the
following equations.

22. r=4+6cosf 23. r=2-cosf 24. r=3~3sin6
g=4 e o a=2 2 =3
b=l b 3 <l [ = o
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WITHOUT A CALCULATOR, Sketch the graph of each polar curve. Then name the type
of polar curve.

25.r=1-—cos6 2. F=3
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Graph each number in the complex plane, and find its absolute value.
31.2=3-i 32. z=4i  O+UYL 33. z=—4+2i
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Express each complex number in polar form.
34. 3++/2i J970 35. 5+8; , 9<O
0= tan (2) - oMt o= vm"(— \+ L = .13
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Graph each complex number on a polar grid. Then express it in rectangular form
36 z-3(cos£+isin£)
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V) z-5(cos£+isin£)
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Find each product or quotient. Then express it in rectangular form

38. —2(cos%+ isin o

)-—4(cos£+isin£) 39. 6(cos£+isin£)+3(cos£+isin£j
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Find each power. Then express it in rectangular form.
a>o 9=bah_‘(“‘r*)= -0.25 b
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Find all the distinct pth roots of the complex number.

42. cuberootsof6 4i ©= T,qn"‘( )~ -0.%9 r= J s -uy? =J_€>—Z =124
P=3 n= OI7.
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